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' So. mountain climbing is undoubtedly one of the most popular adventure sports

cannot be done without facing its formidable glbrry. A true mountaineer May (2|’\a||enge
the mountain, yet is always respectful to the powerful forces of nature.

\

| Summiting mountains carries its own health risks such as oxygen and altitude sickness |

problems, frost bites, swelling of hands and feet, fluid collection in brain or lungsand |’
| exhaustion. Yet, the gratification mountaineers feel from mastering something that is

so frightening, urges them to undertake these endeavours. We may think that the
mountaineers are fearless, experts say, “Not at all. It’s fear that keeps them so ’
intrigued with such arduous journeys.” Impulse and brazenness can be deadly foes. In f
the words of the Indian mountaineer, Bachendri Pal, “The biggest risk ... is to not to i
take the risk at all. remember that.” I

‘\
|
|

} Based on your understanding of the passage, answer the questions given below. 1X10
3 Why does the writer say that mountains inspire ‘awe’ in humans? (Paral)

a. They present us with opportunities for exciting sports. |2
b. They evoke the wish in us, to master them.

¢. They inspire in us, deeds of valour. |
d. They represent peace and calm, to us.

i
|
Select the option that corresponds to the following relation below: i
The more incredible the mountains—the greater the thrill (Para1) '

The higher the stamina—the lower the food intake
The more you laugh—the lesser your iliness

The smaller the car—the bigger the advantage
The heavier the luggage—the higher the penalty

apow

Select the option that displays what the writer projects, with reference to the
following: :

(Paral) . _ .

doubt
caution
conviction
denial

ap oW

g
g .

’Reason —
t experienced rather than descr!
Bes
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The wri .
iter says, “A true mountaineer

m .
respectful to the powerful forces of n ay challenge the mountain, yet is vigre s

ature.” (Paragraph 3)

‘ -
’

|
|
i
|- A. survival
B. experience
C. tradition
D. directive

9. | Supply 1 point to justify the following:

While mountain climbing, an impulsive mountaineer is either disaster-prone or os good  +
| as dead. )

10. | Evaluate the INAPPROPRIATE reason for the feeling of exhilaration on reaching 2 1
summit, that the mountain-climbers experience.

Achievement of a seemingly impossible feat

Spectacular panoramic view

Application of the inculcated survival instincts

Opportunity to use sophisticated mountaineering equipment

on®>

. 10
Q.ll | Read the following passage carefully and answer the questions that follow: -

The North-East of India is a melting pot of variegated cuttural mosaic of people and
| races, an ethnic tapestry of many hues and shades. Yet, these states are lesser
.explored as compared to the rest of the country. The new generations of mé\\ers
| who are ‘money rich and time poor are increasingly looking for unique expene-nces -3
| phenomenon being called the emergence of the ‘experience econom.f . For this new
' and growing breed of tourists, the North-East with its variety and ufuquena‘se::\:siat
| ttraction. A study conducted in 2020 by Dr. Sherap Bhutia, revea

| immense 3 : aphinl
the foreign tourist arrival in the North-East increased from 37,380 persons in 2

o o,

3



‘ 112,552 n 2014—, th‘:»va:-.vaf{

BrOth rate of 1o
MHorth-£E258 was 25 high 25 26 44%, durs -

oo T
; J (both domestic ang foreign) in the
‘ ng 200506,
12.53% was registered in foreign tourist visns
2

A high and posntive growth o
10 North-East States of ¢ ”
India during 2012 from 2011, which further rosetor

2013 from 2012. Foreign tourist arrivals in the N ot 2
39.77% during 2014 from 2013, according to data provided from the Mini
Tourism, Government of India.The study recommendations for twrism”;:w Of
incduded the need to concentrate on some key areas like enhancement of "'*'5
facilities, tourism financing, focus on community involvement and others fm::
formulation of a sustainable tourism strategy in the North-East States of lt:ia

‘lrt;‘fer one reasor'\ for the following, based on information in paragraph 1
e rate of tourism in the North-East of India puzzles tourism officials .

Select the appropriate option to fill in the blanks.
From paragraph 1, we can infer that the

‘ and
North-Eastern states aid attracting the ‘money rich and time

of the

poor” tourists.
1. distinctiveness
2. conventionality
3. diversity

4. uniformity

5. modernity

A.1&3

B.2&4
, C.2&5
| D.1&4

|

3. ‘ Complete the following analogy correctly with a word/ phrase from paragraph 1

aroma: cooking::

: painting

(Clue: Just like aroma is integral to cooking, similarly is/ are integral to painting)

Select the correct option to complete the following sentence:

Travellers advocating the ‘experience economy’ seek a holiday package with
(Paragraph 1)

‘ A. grand facilities, expensive hotels and excellent services to pamper them. 1
| B. a wholesome experience within the budget they have plam;ed for.

| i { ities spend money.

C. places and cities to buy things from and oppom.xm .

D ‘::ost-effective services, affordable accommodation and many days of touring.

\ 5. | select the chart that appropriately represents the trend of foreign tourist travelsinthe | 1
\ North-East, from 2011-2014, as per paragraph 2.

riny |
orth-East witnessed 2 growth of ¢
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B. €ncouraging
C. inconsistent
D. questionable

7. | Substitute the word ‘witnessed’
sentence from paragraph 2:

with ONE WORD similar in meaning, in the following,

Foreign tourist arrivals in the North-East witnessed g growth of...

8. | List any 2 examples of ‘tourist facilities’ as referred to, in Paragraph 3.
9.

List one reason why the researchers recommend that the formulation of a tourism
strategy in the North-Eastern States of India be sustainable.

Select the option that titles paragraphs 1-3 appropriately, with reference to
information in the text.

1 Full Speed Ahead! 1 Winds of Change
2 Ups and Downs

" 1 Inspecting Trends
2 Numbers Don't Lie
3 Cause % Concem

1 Cause & Effect
2 Stahstcally Speaking 2 Dynamic Data
3 Time for Action 3 Let's invesugate 3 Dependable Facts
(A) (B)

(© (D)

1

1
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— am. | Attempt ANY TEN of the following questions. 10
1. Fill in the blank by choosing the correct option to complete the headline. i

| IIMs to take decision on re- test soon
a spokesman said on their

‘ Indian Institute Of Management on re-test soon,
behalf.

| a) Shalltakea decision
b) Shall decide
‘ ¢) Will decide
| d) Are deciding |
plete the sentence by

2. ' Read the conversation between a father and his son. Com

\ reporting the son’s reply correctly.

| .
| Father: “Is tomorrow d holiday?”

‘,

1

!

Son: Yes, it is sunday and so it is holiday. l|
| ,

. Ans ‘,

\

l

|

|

3. | Select the correct option to ill in the blank for the given line, from a health

magazine.

The advertisemeht read, ‘If you smoke, statistically your story end 15%

before it should’.

a) must

b) should

c) will

d) oughtto

the correction for the

4. | Select the option that identifies the error and supplies

following line, from a news report:
allowed to board the plane at Ranchi airport.

Last week a child was not

N

R
Optlen no. arror correction

child children
_____———F_‘_’_——_.—_—_'-
last previous
the a

at in

o|n




5. | Complete the given narrative, by filling in the blank with the correct option:

She greets him EVery morning as he

the school bullding,
a) will enter

b) had entereq
c) enter
d) enters

Fill in the blank by using the correct form of the word in the bracket, for the given
portion of a letter:

Subject: Request for Approval
T Dear Sir

Thisis to respectfully submit that |

(seek) approval for organising a tree
plantation drive to be undertaken by the club

Report the dialogue betwe.en a grandson and his grandfather, by completing the
sentence:

Grandson: Grandpa, who are your superheroes?

Grandpa: Anyone who shows kindness and compassion to others.

8. | Identify the error in the given sentence, report and supply the correction.

Students must go through programming, computing and how to process.

Use the given format for your response.

error correction

Fill in the blank by choosing the correct option; to complete the slogan by the
Ministry for Child Welfare.

WE AFFORD TO NEGLECT CHILDREN? THINK TW\CEW

need
will
may
can

o 0 oW
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12.

Qv

One wo
rd has be —
rewrite een omitted f
the sentence. rom the given sentence. \d I
. \dentity the missing word =
Ng word an,
ang

The newspa

pers taken the place

of the Gita, the
, Bible and Qur
an.

Rearrange

ge the following words and phrases to form a meaningful

ul sentence,

our body/ca i
™ y/carbohydrates and/vitamins/ proteins/necessary for/fats are
ill in the blanks by choosing the correct option.

Tree supports man's li
s life supplying the atmosphere with the oxygen

a) of
b) by
c) with
d) to

(CREATIVE WRITING SKILLS)

charge of tour and excursion club of Grand Public
r break, you are planning to organize a tour to

Write a letter to the India Travel and Tour
d all the other necessary

A. You are John/Jennifer, thein
School, Agra. During the summe
a place of historical importance.
Agency, Agra, enquiring about the charges, facilities an

details

OR
bhiyan’ and enrolling of
s, there aré still many children, like the oné

odonotgoto school, rather have never seena school. Itis

You decide to write a letter.to the editor of a newspaper
to be taken. Take ideas from the MCB unit |

t 120 words.
) l

movement like ‘Sarvashiksha A

B. Though there isa
hildren in school

underprivileged c
in the picture, wh

indeed disturbing.
expressing your views and the steps
‘ducation’. Write the letter in abou
together with the verbal ones, writea |

m the following visuals,
00-150 words.

c. Taking clues fro
aph on Varanasi, in about 1

descriptive paragr

5

5



What school was Tommy talking about?

2. | How did his loftiness make Margie feel? |

3. | Tommy’s attitude towards Margie is mainly

e —

| Verbal Clues;

or Kashi --- city on the banks of river Ganga In U.p.

holiest of
ghats and silk fabrica. . Gi§rof Hirg the seven sacred Clties---- famoys for its

u devotion, pilgrimage angd Cultural importance,

——

SECTION C(LITERATURE)
Reference to the context.

Attempt ANY ONE of two extracts given.

e

Tommy looked at her with Vvery superior eyes.

stupid. This is the old kind of school that they had hundreds and hundreds of years
ago.” He added loftily, pronouncing the word carefully, “Centuries ago.” Margie was \
hurt. “Well, 1 don’t know what kind of school they had all that time ago.” She read the \
book over his shoulder for a while, then said, “Anyway, they had a teacher.”

“Because it’s not our kind of school,

“Sure, they had a teacher, but it wasn’t a regular teacher. lt was a man."

a) music school
b) old school

c) Sports school
d) skating school

a) excited
b) awful

c) hurtful
d) annoyed

a) indifferent




h) patronizing
¢) thoughtless
d) domineering

4 | What did Tommy mean by “our kind of school”

a) parks

b) mechanical teacher
¢) human teacher

d) community hall

5 | Pick out the word that means same as “loftily”?

a) humbly
h) Imposing
¢) modestly

d) politely
OR

“Ahul | | know you have 1o 4o 2wz 2 3o o il
eV Ve gussl (20 rw
n, (ney 208 ok S5 T%

1.8 | He told me as If thinking aloud,
seagull not fly across the sun, alone and without a n
my hesitant mother, “Your children are not your childre
daughters of Life’s longing for itself, They come through o o2 o4~ Seone Y5
may give them your love but not your thoughts, For they have s owe T ’

¥

/.

1. | Who is the speaker here in this passage?

a) Father

b) Mother

c) Optionaandb

d) None of the above

2. | Whose quote was referred here?

a) Khalil Gibran

b) Gandhiji

c) J.LNehru

d) None of the above

3. | Who have their own thoughts?

a) Animals

b) Birds

c) Siblings

d) Children -

10
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4 | Give one word for Jife’s longing for Itself

What was the Meaning of the quote?

] Attempt ANY ONE of two extracts given.

And | shall have some peace there,
for peace comes dropping slow

There midnight’s all glimmer,

and noon a purple glow,

And evenings full of the linnet’s wings.

I will arise and go now, for always night and day

I hear it in the deep heart’s core.

1. | Which place does the poet want to visit?

a) the lake
b) the mountains
c) the beach

2. | What kind of a scene is described at Innisfree during noon time?

a) golden hue A

b) Bright green and yellow lights
c¢) purple glow can be seen

d) none

3. | “Evenings full of the linnet’s wings” what do these words mean?

a) the noise of flying insects
b) linnets flyingin the evening sky

c) buzzing bees .
d) noise of insects in the evening

4. ;l'he poet has used a

to create by its use?

Dropping from the veils of the morning to where the cricket sings;

I hear the lake water lapping with low sounds by the shore;
While | stand on the roadway, or on the pavements grey,

d) a place of natural beauty—lnnisfreé Island where he spent his childhood

ish
poetic device in the given lines. What effect does she Wis




Dropping from the veils of the morning to where the cricket sings; — X

There midnight’s all a glimmer,

and noon a purple glow

fl a) metaphor

| b) similie

¢) personification
d) alliteration

|
|
|
|

1 5. | How does the poet draw a contrast between Innisfree and the city of his residence? In
stanza Il 1

OR

2.B | No, the root is to be pulled out —
Out of the anchoring earth;
It is to be roped, tied,
And puiled out — snapped out
Or pulled out entirely,
Out from the earth-cave,
And the strength of the tree exposed
The source, white and wet,
The most sensitive, hidden
For years inside the earth.

1. | What is meant by the phrase, “anchoring earth”

a) inside the earth

b) branch of a tree

c) keeps atree in place securely
d) none of the above

2. | What does the tree symbolise in this poem?

a) prosperity

b) greenery

c) deep rooted evil
d) anoble thing

[

3, | Select the appropriate option to complete the sentence, according to the extract.
y |
The idea of a killing a tree that has been “out from the earth cave, and the strength o

the tree exposed is

a) unnatural
b) scary

12
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1. | Describe the busy street of Kathmandu and the religious nature of people. Do you

r\\
¢) magical —_—

because

. :
(Clue explain how Repetetion applies here)

al In terms of Parts of speech the word ‘roped’ means

a) noun
b) verb
C) adjective
d) adverb

Vi Answer ANY FOUR of the foliowing in about 40-50 words each,

such a figure for her?

looking into the mirror ?
/3./ Why did Santosh go to Uttarkashi ?

How does the poet find it ‘g bliss’ to feel when it rains?

[}

Answer ANY TWO of the following in about 40-50 words each.

1] ’Describe Toto’s stay with Grandfather’s other pets.

How did Iswaran make even the simplest incident interesting?-

Answer ANY ONE of the following in about 100-120 words.

think Vikram Seth is an ideal traveller? Give reasons for your answer.

“At last a sympathetic audience.”

is the poet; ,
pulled out....’ Poetic device used for And pulled out “Snapped out or

“To the little girl he was a figure to be feared and avoided”, Why was Kezia’s father

What two “important” and “earth-shaking” decisions did the doctor take while he was | 3

- 3. | How did the Mayor and the Town councillor describe the statue of the Happy Prince?

Who says this? why does he say it and Is he sarcastic or serious? How did Gerrard outwit | 6
the audience and save himself? Quote the parts of the play that support your answer. |

13



{ X | Answer ANY ONE of the following In sbout 100-120 werds T

}
3 “The Lost Leaf” is o story of hope and willpower that works more than the medicine to ¢

light the lomp of the of Johnsy. Elaborate it.
2. | The Beggar’ has a beautiful message. It Is that one can make one’s life a hoppy journey | &
vthrough work only. mmmmmmmm
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SECTION A

i
QI] Multiple Choice Questions. (1x20=20)

0 wrote an influential pamphlet What is the third Estate’?
) Mirabeau ‘

. . . d netwo
hich one of the following bio-reserves of India is not included in the worl
f bio reserves?

a) Manas, ,
b) Gulf of Mannar,
c) Nilgiri,

) the area of departure

ival
b) the area of arriv
) both the area of arrival and departure

) None of the above

IS

Pg-
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4. The magnitude of population growth refers to
) the total population of area | G
) the number of persons added each year | o
) the rate at which the population Increases |

) the number of females per thousand males
OR

of grain banks in different regions is:

he society which tacilitated setting up

la) Amul (Gujarat)
b) Academy of Dev
c) Mother Dairy (Delhi)
d) None of the above

elopment Sclence (Maharashtra)

5. |Who among the following is a part of the political executive?

a) District Collector
b) Secretary of the Ministry of Home Affairs

c) Home Minister
d) Director-General of Police

6. |Match the ministry with the news that the ministry may have released: :
~________——————-‘-‘"—““) A "‘"‘—I._“‘:.;...:;‘:_";;1:;;.;:.‘:‘;:.'.‘.'.:.“.::‘.1:.............—::.‘..“..’:... ..‘..,.__':‘...'—-'-’-..'—2'_.,.._..———-"—"‘“"_";:“" "..;.’._-'__.—-_;; - i

i) A new policy 1S - o i
beingmadeto a) Ministry of Communications and g
increase the jute Information Technology
exports from the country -
ii)Telephone services will be b)Ministry of Agriculture,
made more accessible to Food and Public
rural areas Distribution

c)Ministry of Health

wheat sold under the Public
Distribution System will go !

iiiy The price of rice and

/ ——
iv)A pulse polio campaign d)Ministry of Commerce
will be launched and Industry ‘
e -
a) idi-a fii-b iv-C ‘
b) i-d ii-c iii-b iv-a
c) i-bii-a jii-d iv-C
d) i-aii-d iii-b iv-C
7. Which of the following rights is available under the Indian Constitution?
' Pg-2

a) Rightto work
b) Righttoan adequate livelihood




%) Righttoprofectonels culiie
d) Right to humlliate

dentify the plcture and write the name of the dlagrame.
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9. [The Imperial Forest Research was setup at .....?
a) Allahabad

b) Darjeeling

¢) Dehradun

d) Shimla

OR
The nomadic cattle herders of Kaokoland belonged

a) Namibia

b) Zambia

¢) Zimbabw

d) South Africa

_10. \Write the full form of AAY.

a) Antodya Anna Yojana
b) AntodyaAaharYojana
c) AntodyaAashrayYojana
d) AntodyaAasharYojana
11. [Fill in the blanks
is the head ofLokSabha.
F a) Prime Minister
b) President
c¢) Chief Minister
d) MLA
12. [Tendu leaves are used in making.....?
a) Bidis

b) Plates
c) Baskets
d) Umbrellas

N Wy
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X

b) Darjeeling
{ ¢) Dehradun
d) Shimla

" OR

|
|
|
]

The Baigas are a forest community of.....?
A a) Central India
t b) North India
¢) South India
d) North East India ‘

14. Which vegetation does not come under natural vegetation?

a) The cultivated one
b) The orchards

[ c) Both A and B
; ' d) None of these

| f

15. fT he president of India is elected by
a) Direct Election by citizens 18 years of age
(b) Indirect Election by the Electoral College
(c) The Prime Minister and the Council of Ministers
(d) None of the above

—_—

CR

hom does the President appoint as the Prime Minister?
a) Anyone he likes
(b) Leader of the majority party
- [c) MP who has secured the largest number of votes
(d) None of the above

16. [Two features of Indian judicial system are:
(a) Independent Judiciary

(b) Integrated Judiciary

(c) Dependent Judiciary

(d) Both (a) and (b)

17. \Which of the following is grown in the rainy season?
(a) Jowar and bajra

(b) Wheat

(c) Soyabean

(d) Rice

| 18 "Joney in hand is an example of

(a) Human capital
(b) Fixed capital
(c) Working capital
g(d) Physical capital :
i

\
13. h’ he Imperial Forest Res -
€arch was set \
I a) Allahabad setupat....? |



-Scale manufacturing

HYV seeds g
(

tands for OR

a) Heavy yielding variety seeds
(b) High yielding variety seeds
(c) Half yielding variety seeds
(d) None of the above

20. Chronic hunger refers to:
(a) Low income

(b) Inadequate quantity of food
(

¢) Inadequate quality of food
(d) All of the above

SECTION B

VERY SHORT ANSWER BASED QUESTIONS
Who were the Nomadic Tribes?

' OR
hat is a bio-reserve? Give two examples.

1)
21.

(2X4=8)

22. Name two animals having habitats in the tropical and montane types of vegetation
23, What is scientific forestry?
24. What is meant by Issue Price?

OR
hat is buffer stock ?

|

SECTION C

'QIlIJ. SHORT ANSWER BASED QUESTIONS (3X5=1 5)11
25. \Why are forests affected by wars?

26. | Explain why nomadic tribes need to move from one place to another. |

OR . \

hat was criminal tribe act?

Define age structure, death rate and birth rate.

OR
How is food security ensured in India?
28. Discuss the formation of rajyaSabha.
| 29. \What do you mean by coalition government?

27.




- SECTION D

l&'

QIV] LONG ANSWER BASED QUESTIONS
H H ‘ \
30. [Discuss how the changes in forest management in the colonial period affected the ‘
?llowing groups of people. s\ P tine cultivale, S Kiras i ek |
4y > k P"rO (\) ”. ‘ (/ P‘ Qr\\vabkn D oW ‘{/ fmff,a” LI ’(’ '!‘, "".'V i‘,'/ 7z oy
CO(\'\\'Y\U\’\‘I*_‘CS‘ :
Discuss why the colonial Government in India brought in the following laws. In each|
case, explain how the law changed the lives of the pastoralists. ; ‘in
31. | What are the similarities between colonial management of the forests in Bastar | o
and in Java? }

32. [Name different types of vegetation found in India and describe the vegetation of
high altitudes.

OR
Distinguish between population growth and population change
33. [Give reason why the Maasai Community lost their grazing land.
SECTION E
V]. |[CASE BASED QUESTIONS
(4X3=12)

34. The disappearance of forests is referred to as deforestation. Deforestation is not a

recent problem. The process began many centuries ago; but under colonial rule it |
ecame more syste_matic and extensive. Let us look at some of the causes of ;
eforestation in India.By the early nineteenth century, oak forests in England were \

or colonial trade and for the movement of imperial troops. To run locomotives,
ood was needed as fuel, and to lay railway lines sleepers were essential to hold
he tracks together. Each mile of railway track required between 1,760 and 2,000
leepers.One of the major impacts of European colonialism was on the practice of
hifting cultivation or swidden agriculture. This is a traditional agricultural practice in
any parts of Asia, Africa and South America. It has many local names such as
lading in Southeast Asia, milpa in Central America, chitemene or tavy in Africa, and
hena in Sri Lanka. In India, dhya, penda, bewar, nevad, jhum, podu, khandad and
kumri are some of the local terms for swiddenagriculture.While people lost out in
many ways after the forest department took control of the forests, some people
benefited from the new opportunities that had opened up in trade. Many
ommunities left their traditional occupations and started trading in forest products.
his happened not only in India but across the world. For example,rubber.

34.1| Deforestation refers to
34.2 Eyropean colonialism was one of the practice of Swidden agriculture. Ture /false

34.3 How many sleepers are required for each mile railway track?
34.4 In India, dhya,bewar, nevad, ‘Jhum, podu, khandad and kumri are some of the local

' Junity, whi ithout
o ' t community, which has grown naturally wit 5
uman ai and has been lf und tlzlumans for a long time. This Is termed Pg

human aid and has been left undisturbed by




35.1

'35.3
35.4

36.

35.2

Distribution System (PDS) is th
India (Gol) towards ensuring fo

o be the most e

period. Simi
»\?u;:‘a_ .gﬂs huge diversity in 21‘::'::[:‘3’:\ \‘h'e species of animals are referred to a
actors.Some of the ' © fauna kingdom ’
nahOQany. l\)ﬁe\w:ot?nl\\‘:::;“N“"v Impotant treos of !li?a(:::?w‘s(: e 'O\low\ng
Forests are S \ ar and cincho 5 a8l are ebony
elephant. n . The commaon '
R and Waeast Bongal Dealdes those un\uu:\:\m;(\)\ﬂm\‘ m? found ‘\ \
8, plonty of biirds | \

dats, sloth, scormpi
. S . ons and snaila are also
€ 80 ftow
S on? of th? 12 mega bio-diversity l‘\‘\lnh\:.“ ::: :"\“\“L(Vm(; :ul\&l\n!\ Our country \ndia |\
q;ec:es India occupies tenth place in tho world and |::\‘|:\\\V\\‘“‘/‘\\ Sain ‘\”.mm il
o a ! VAR AN plant diversa
I'here are about 15,000 tloworing plants in India, which account for U por l::\‘:{ \\\t’ \
\ \ '

the world's total number of flowering plants. The count
y ry has many nonflowerin
plantg, such as ferns, algae and fungi. India also has approxlmate):y 90,000 spegciesl,
of animals, as well as, a rich variety of fish in its fresh and marine waters. i
l

Define natural vegetation. ‘
are found in the jungles of Assam and West Bengal. :i

Name some non flowering plants.
Virgin vegetation referred as \

ood security means availability, accessibility and affordability of food to all people

t all times. The poor households are more vulnerable to food insecurity whenever
tion of food crops. Food security

ic Distribution System (PDS) and government vigilance and

ction at times, when this security is threatened. Food is as essential for living as
ir is for breathing. But food security means something more than getting two
quare meals. Food security has following dimensions (a) availability of food
eans food production within the country, food imports and the previous years
tock stored in government granaries. (b) accessibility means food is within reach
f every person. (C) affordability implies that an individual has enough money to

uy sufficient, safe and nutritious food to meet one's dietary needs. Public
e most important step taken by the Government of

od security. In the beginning, The PDS has proved
ent policy over the years \n
rs at affordable prices. it

ffective instrument of governm

d making food available to consume _ . )
as been instrumental in averting widespread hunger and famine by supplying foo

i ' “In addition, the prices have
rom surplus regions of the country to the deficit ones . ‘ \
een unrger revision in favour of poor households in general. The system, \ng\ud\ng

he minimum support price and procurement has contributed to an \r‘\\cgea;see .\\;\“s
oodgrain production and provided income security to farmers in certain qQions.

rite the fullform of PDS.

tabilising prices an

36.1
36.2 [Food security means?
36.3 Define accessibility.
36.4 Affordability referred as?
SECTIONF

VIJ. MAP SKILL BASED QUESTIONS:
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Locate and label the following items on the given map: (AnY three)

1 .A bird sanctuary in Tamil Nadu.

2. A wildlife sanctuary in Kerala.

3. A national park in Jammu and Kashmir.
4. A wildlife sanctuary in Rajasthan.

5. A national park in Asom.

THE END
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SUIMECT-SCIENCE(086)

General Instructions :-

This question paper conslsts of 39 questlons In 5 sectlons. |
All questions are compulsory. However, an Internal cholce Is provided In some questions. A student is |

expected to attempt only one of these questions, 4

Section A consists of 20 objective type questions carrying 1 mark each.
Sectlon B conslsts of 6 Very Short questions carrylng 02 marks each. Answers to these questions should

In the range of 30 to 50 words.
Sectlon C conslsts of 7 Short Answer type questlons carrying 03 marks each. Answers to these questions

should In the range of 50 to 80 words
sectlon D consists of 3 Long Answer type questlons carrying 05 marks each. Answer to these questions

should be In the range of 80 to 120 words.
sectlon E conslsts of 3 source-based/case-based units of assessment of 04 marks each with sub-parts.

1x 20=20 M

" SECTIONA
1

'Tﬁé“ii\;)"gf}‘r]:'\}iibwtlon describes the gravitational force between

a. any two bodles having mass
b. earth and point mass only
¢. earth and Sun only

2

d. two charged bodles only 4
ded with the broad strips because:

The school bags are generally provi
a. It will spread the force of the bag over the large area of the shoulder of the child

producing large pressure
b. It will spread the force of the bag over the large area of the shoulder of the child

producing less pressure

¢. It has become a trend among the students to carry the bags with wide strips
er of the child

d. It will spread the force of the bag over the small area of the should

producing less pressure

Cell Is the structural and functional unit of life, The word cell Is derived from the Latin
”, Can you name the scientist who coined the

word ‘cellula’ which means “a little room

term cell?
a, Robert Hooke
b. Anton Von Leeuwenhoek |
Pgl

¢. Robert Brown

d. Ernst Haeckel B




Pe‘j
L4
[ T ————
a. Atrest
b. In uniform motion
€ Moving with uniform acceleration
d. In non-uniform motion

The displacem ent after half 5
a. Zero
b. nr

circle would be:

a. A-Nucleons; B~ Chromatin; C- Nuclear membrane; D - Nulcleor;:rs“m
) ' A = Nucleus; B - Chromatin; C - Nuclear membrane; D - Nt:qc :)epoplasm
. A = Nucleolus; B - Chromatin; C - Nuclear membrane: g : N:dear -
A - Nucleolus; B - Chromatin; C - Nuclear membrane;




A is very different

b. remains same

¢ sometimes same and sometimes different
d. none of the above

3. Chromoplast

b.  Chloroplast

C.  Leucoplasts

d. All of the above

Which plastids are colourless?

Qs

210

Q11

The cell wall of the plant cell made up of
a. Glucose
b. Fructose
¢. Cellulose
d. Protein

The weight of an object on the Moon’s surface Is
a. 1/3"ofthe weight on Earth
b. 1/5%of the weight on Earth

1/6™ of the weight on Earth

1/2™ of the weight on Earth

a n

What is the value of the acceleration du
Earth?

a. 9.8 m/s?
b. 18.8 m/s?
¢ 4m/s?
d. 12m/s?

e to gravity on the surface of the

Q12

Which radioactive element is used in the treatment of cancer?
a. lodine-131

b. Uranium-234
¢ Plutonium-239
d. Cobalt-60

Q13

Atomic number (2) is equal to —————

a. Number of protons in the nucleus of an atom.
b. Number of electrons in a neutral atom

¢. Both (a)and (b)

d. None of the above

Q.14

Who discovered the electron?
a. Goldstein
b. J.J Thomson
c. Chadwick
d. Eugen Gorge

Q.15

The solid which undergoes sublimation is =—————
a. icecube
b. naphthalene
¢. sodium chloride

e |




T

Q.16

d. potassium chloride

Which of the following Is connective tissye?
a. Ligament

b. Tendon

C. Blood

d. Al of the above

Assertion and reason question:

Directlons: In the following questions, a statement of assertion Is followed by a
statement of reason, Mark the correct choice as:

pudding’ model.

Reason: The atom is visualized as a pudding of positive charge with electrons (raisins)
embedded in it.

(a) If both Assertion and Reason are true and Reason Is the correct explanation of
Assertion.
(b) If both Assertion and Reason are true but Reason is not the correct explanation of
Assertion. \
(c) If Assertion is true but Reason Is false. ‘
(d) If both Assertion and Reason are false, Bssevtion sfals, | 2 |
Q.17 Assertion : Displacement of an object may be zero even if the distance covered byitis|1
not zero. %
Reason : Displacement is the shortest distance between the initial and final position. ‘%
. |
Q.18 Assertion -When sugar pour in water, then taste of water became a sweet. ) 1 |
|
Reason-Sugar completely dissolved in water with giving its own character. |
|
Q.19 Assertion : The endoplasmic reticulum which lacks ribosomes is called smooth | 1
endoplasmic reticulum ||
!
Reason : SER is mainly involved in protein synthesis. ;
|
Q.20 | Assertion:  Thomson's atomic “model is known as ‘raisin 1

nt. What
force. Let us take it that the force acts on the object through the displaceme
is the work done in this case?

OR

SECTIONB 2x6=12k
Q.21 | Draw a sketch of Bohr’s model of an atom with four she“s. 2
OR
Give applications of radioactive isotopes.
Q.22 | Agas exerts pressure on the walls of the container. %‘;
Q.23 | State the universal law of gravitation and mention it's importance.
Q.24 | A force of 7 N acts on an object. The displacement is, say 8 m, in the direction of the

Pg.4




oncrcy lsfhi; lnloul;;? o
p
? ‘7_5 How 15 bacteriy ]
Q.26 o

to2ms?

Define kinetic energy and derive its equation.
OR

Give three differences between acceleration due to gravity (g) and universal

gravitational constant (G).

In what way is the Rutherford’s atomic model different from that of Thomson's atomic | 3

GET
/ model?
/ Q31 / Which organelles is known as powerhouse of the cell? Why? \3
,rf Q.32 Explain nervous tissue and draw a well labelled diagram of a neuron. 3
!
|
; Q.33 | State which of the following situations are possible and give an example for each of 3
j these:

(a) an object with a constant acceleration but with zero velocity ;

h uniform speed.
leration but wit I the perpendicular

with an acce
rtain direction with an acceleration

(b) an object moving
(c) an object moving inace

direction.

———




Q34 [ What happens tg er

SECTION D T

the force | between twg
objects, If

(1) The mass of one object Is doubled?

() The distance between the objects Is doubleq and
tripled?

() The masses of both objects are doubled?
OR

llustrate the law of conservation of energy by discussing the energy changes which
occur when we draw a pen

dulum bob to on
the bob eventually come to rest? What h
violation of the law o

f conservation of energy?

Q. 35 | Explain with éxamples.

Mass Number
Atomic humber
Isotopes
Isobars
Valency

P oo ow

e side and allow it to oscillate. Why does
appens to its energy eventually? \s 1t a

Q.36

a. A person holds a bundle of hay over his head for 30 minutes and gets tired.

Has he done some work or not? Justify your answer.

b.  An electric heater Is rated 1500 W. How much energy does it use in 10
hours?

SECTION E

(&x3=12)

Q.37

1. Observe the diagram and identify the type of work being done......

a. Positive work
b. Negative work
c. Zero work

e ing done......
2. Observe ghe dz;agram and identify the typ of work being




4, i
Observe the diagram and identify the type of work being done

8 l
8

aoow

- Positive work

- Negative work
- Zero work

Fast work

------

Positive work
Negative work
Zero work
Fast work

Fliighs Directicon:

a. Positive work
b. Negative work
c. Zero work

d. Slow work

Q.38

According to the third law of motion, a falling apple does attract the earth. But | &

according to the second law of motion, for a given force, acceleration is nversely
proportional to the mass of an object. The mass of an apple is negligbly small
compared to that of the earth. So, we do not see the earth moving towards the appe.

d.

If an apple falls down from a tree then we can say that ia

attracted by_
i.earth,apple
ii.apple,earth
jii.both i and ii
iv.one of the above




b. -
A g‘rawtation force is a3
". short range force
- non-central force
T

lil. Weakest force
iv. Strongest force . \

¢ State true/false
accele
other. + acceleration and mass are directly proportionalto each
C

I True
ii. False
d. What holds the Earth’s atmosphere?
| i. Gravity
ii. Clouds
!

/ iii. Wind
iv. Earth’s magnetic fleld

a3g Blood is the type of connective tissue.lt has a liquid matrix called plasma,in which the

red blood cells(RBCs),White blood cells (WBCs) and platelets are suspended.The plasma
contais protein,salts and hqrmons.Blood flows and trasports gases,digested
food,hormones to tissues and waste materials from tissue to liver and kidney.
2. Which blood cells deal withimmune reaction?

i. DNA

ii. RBC

jii. WBC

iv. RNA |

p. Howaré oxygen,food,hormone and waste material transported in the
body? |
j. Through blood
ii. Through DNA
jii, Through Kidney
jii,. Noné of them
jve ti cking fibres?
Give the name of connectivé tissue 1a
c.
i, DNA
i Blood
jil. RNA 3
teins, 53
. Nem® oft” 2 matrix containing protell>
r false: [ood has
4, Staté true
hormones.
j,Trué
- i Falsé e
2 ﬂ@ @ Il .,...-‘-"”"'
e ol
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